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1. (D) 

2.  

2.1.  −8 × (−73) − 73 × 9 = 

= −8 × (−73) + 9 × ( −73 ) = 

= (−8 + 9) × ( −73 ) = 

= 1 × ( −73 ) = 

= −73  

2.2. 
1

7
× (2 ×
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2
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7
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× 2 ) ×

3

2
+
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7
× 2 = 
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×
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+

2

7
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7
× (
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2
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2

7
×
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2
= 

 = 1  

3. (C) 

4.1. −
3

4
 

4.2. 
16

5
 

5.  

5.1. 1 

5.2. 0,41 

5.3. defeito; décima 

5.4.   
3

7
; 

5

12
 

6. (B) 

7. (D) 

8. 
59

45
  

9. 

9.1.  

a) P b) Z c) U d) T 

9.2. 𝐵𝐹⃗⃗⃗⃗  ⃗ (por exemplo) 

9.3. [𝑁𝑂𝐿𝐶𝐵𝐴] 

9.4. 

a. 𝐿 b. 𝐿𝐽⃗⃗  ⃗ (por exemplo) c. 𝑁𝐿⃗⃗⃗⃗  ⃗ (por exemplo) 

10. (B) 
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